UGC NET 2021 Management

Topic:- Management_SHAAN_NOV21A

1) Which one of the following information type is NOT included in a skill inventory?

forgotferfiaa 3t 1 wlot 2t : Fraren wloret - et 3 onfdrer o18t 3 ?

[Question ID = 401][Question Description = S3_qSNz_PG_MGT_QO01]
1. Employee's personal data/wsfant @& ifeperd sfiaes [Option ID = 1601]

2. Organization's training schedule/3rIosr @1 yfstemn grszet [Option ID = 1602]

3. Employee’s potential/wsfart &I dsmerar [Option ID = 1603]

4. Salary and Job history/dder siiz @1 @1 sfeert [Option ID = 1604]

Correct Answer :-
® Employee's personal data/sfarst @ =ifeperd sifaes [Option ID = 1601]

2) Which one of the following approaches stresses that there are no universal rules for managers to follow in order to
perform the job?

forgotferiRac 3 3 Dol AT AMIBIA 33 I UR &l Sl 8 [ Yaerd! DI Ioid> DRI DI Yui ool D @t I DI Arduifdie forer o1&l 8 ?

[Question ID = 402][Question Description = S3_qSNz_PG_MGT_Q02]
1. Contingency/smafaasar [Option ID = 1605]

2. System/ugfer [Option ID = 1606]

3. Mathematical/sifordtr [Option ID = 1607]

4. Empirical/sgpfersicta [Option ID = 1608]

Correct Answer :-
e Contingency/smmRe@ar [Option ID = 1605]

3) The best level of output for a perfectly competitive firm in short run is a point where P = MR = MC, provided that

3rcq srafr 3 guiarn gieriett wuslt & féte 3curc o1 Ad9)ss ¥R a6 3 16l Ul = wa 3R = udA Al 3, safd :
[Question ID = 403][Question Description = S3_qSNz_PG_MGT_Q03]

1. P < AVC/p < avc [Option ID = 1609]
2. p > AVC/P > AV [Option ID = 1610]
3. p=AVC/p = Avc [Option ID = 1611]
4. P = AVC/P = AVC [Option ID = 1612]

Correct Answer :-
® p - AVC/P < AVC [Option ID = 1609]

4) What is the role of advertisements and selling costs in perfectly competitive markets?

gufazn gferieh IRl 3 Rismusl siiz [aj dlerdl &t a=m sifdror 3 ?

[Question ID = 404][Question Description = S3_qSNz_PG_MGT_Q04]

1. Informative to intimate product/service availability/smeaie® 3curg / ar uetserr @ gae [Option ID = 1613]
2. Enlarging market size/drsiR & iR ot fdzmfya e [Option ID = 1614]

3. Very essential for survival of the firm/ousft &I Ssiifdar @ ferwe @ smage [Option ID = 1615]

4. Influencing buyer behaviour/® dreasrR @1 ysufda oo [Option ID = 1616]

Correct Answer :-
e Informative to intimate product/service availability/smeafi® 3cure / Jar 3uctstrdr @ yaw [Option ID = 1613]

5) It is believed that employees' attitude influence their perception of work, but the employees' experience at work may
also modify or shape their attitudes. This is an example of

I SIIell Sl 3 b DIl BT RIGsR IoId> PRI Ol [@ERuN Bl yHIfdd ol 8 Ug PRI Bl D DRl DI GHT RAD RAER DI JLR
DI & HAAT IoID RIGBER DI TP 3IRIHA & ADAl & A [BIADI GBI 3 ©

[Question ID = 405][Question Description = S3_qSNz_PG_MGT_QO05]



Contingency Approach/zisiieiar 3usrr [Option ID = 1617]

Democratic Approach/cladifeia 3usmr [Option ID = 1618]

Interactional Approach/urzul¥® ardlemu (seruamiet) 3upe [Option ID = 1619]
Socio-technical system Approach/zmenfsia - awofihl yunet 3uwer [Option ID = 1620]

A W N -

Correct Answer :-
e Contingency Approach/zisirerar uesrer [Option ID = 1617]

6) Which one of the following employee behaviour is NOT true in case of high stress level?

I dolld IR D AR A DAl D asR D aR A foafcRaa 3 A dia a1 33t o181 8 ?
[Question ID = 406][Question Description = S3_qSNz_PG_MGT_Q06]

1. Anxiety/fiar [Option ID = 1621]

2. Careless mistakes/srRimazrmsfiguf sreiferii [Option ID = 1622]

3. Nervousness/stefiear [Option ID = 1623]

4. Low and bad judgemental ability/fomwfr clor bt @t sl 2a=1a =eerar [Option ID = 1624]

Correct Answer :-

® Anxiety/Riar [Option ID = 1621]

7) Information regarding ‘personal job demands (human expenditure involved in work, such as energy expenditure)’
collected in job analysis falls in which one of the following?

JASPIR a3yt 3 wpfea caftpord JAsPIR Hiel (PRI 3 el lora AA1er6l, SIA 6 Seif aua) HAdeht oo foet 3 A el sl 3 ?
[Question ID = 407][Question Description = S3_qSNz_PG_MGT_QO07]

Work Activities/®r! figamaemu [Option ID = 1625]

Worker-Oriented Activities/®p©mR 3o#a fiparaerma [Option ID = 1626]
Personal Requirements/=ifepsra sie [Option ID = 1627]

Job Context/®rf Asgsf [Option ID = 1628]

A W N -

Correct Answer :-
o Work Activities/®r! faenaemu [Option ID = 1625]

8) Which one of the following orientation programmes seek to ratify the usefulness of the characteristics that the person
brings to the new job?

forgoiferRac 3 3 Dl - AT AMBARIRT PRIGH ftd DI fadraarsii i ITRIBIAT 3 IR ol HidT Bl & SiI T8 olU ASPIR A Ul AT TID2 ATl
3?

[Question ID = 408][Question Description = S3_qSNz_PG_MGT_Q08]
1. Serial Orientation/@grag sifdifdeerzr [Option ID = 1629]

2. Disjunctive Orientation/frisior sifdifreemt [Option ID = 1630]

3. Investiture Orientation/ssd=<lcR aifdifdearrt [Option ID = 1631]

4. Divestiture Orientation/smsdicyR sifdifoarzt [Option ID = 1632]

Correct Answer :-

e Serial Orientation/m@uag sifdifdeemt [Option ID = 1629]

9) In which one of the following motives, relevant for organizational climate, there is an urge to be relevant and useful to
large groups including society as a whole?

JHoTSelcH® uf¥der @ fere grifdre footfeiRaa 3 2 vt fdRe 3 eyl s Afda gaed A3el @ fere SuRIpl SR yRIiTe Jof @ &l ygfita
i3 ?

[Question ID = 409][Question Description = S3_qSNz_PG_MGT_Q09]
1. Affiliation/ideresr [Option ID = 1633]

2. Influence/ygma [Option ID = 1634]

3. Extension/fazar [Option ID = 1635]

4. Achievement/3uetfeer [Option ID = 1636]

Correct Answer :-

o Affiliation/3iserer [Option ID = 1633]

10) If the market price of PQR Ltd. is 44, EPS is 3.75 and the retention ratio is 60%, then the multiplier according to
Graham and Dodd Model of Dividend policy is

afe PQR fifies o1 aeirk e 44 3, sdivar 3.75 3 3iiz yferenzor sigqura 60 yfererd al, dl cmstior ofiftr @ spsa ik Sis disa o AR I
T=IT BIPT -



[Question ID = 410][Question Description = S3_qSNz_PG_MGT_Q10]
1. 15

[Option ID = 1637]
2. 19.5

[Option ID = 1638]
3. 16

[Option ID = 1639]
4. 18.7

[Option ID = 1640]
Correct Answer :-
e 15

[Option ID = 1637]

11) The holistic, integrated and goal-oriented process of planning, recruiting, selecting, developing, managing, and
compensating employees is known as

pfardl forilsiel, #dl, TRIGIPR®, PRI B0l arcil, gder w2l arcil 3R giferggur &I 3e), udhlad 3R iyl yfapRn ol i wu # Sirel
SIret 3 ?

[Question ID = 411][Question Description = S3_qSNz_PG_MGT_Q11]

Human Resource Management/sirora Jimerer gatrol [Option ID = 1641]

Strategic Human Resource Management/urfiferes strera 2iRimerel yderst [Option ID = 1642]
Talent Management/gwier yderer [Option ID = 1643]

Human Resource Planning/direra 3imeret forisior [Option ID = 1644]

A WN -

Correct Answer :-

® Human Resource Management/#rora 3imeror gaerer [Option ID = 1641]

12) Which one of the following performance appraisal methods prevents supervisors from rating all or most employees
"satisfactory” or "high"?

forrarferRaa 3 olor 2l forourcer ®RI Feaforerzor ugfler fordlerel @1 it srerar siferepior waardt @1 "HdIusiore ' eI "I’ Fedidol Bl A
Al 3?7

[Question ID = 412][Question Description = S3_qSNz_PG_MGT_Q12]

Critical Incident Method/fipfedser sRSe ugfer [Option ID = 1645]
Forced Distribution Method/afera (w1=s) faazur ugfer [Option ID = 1646]
Paired Comparison Method/gfsa geteticate ugfer [Option ID = 1647]
Alternation Ranking Method/wwirrur et ugir [Option ID = 1648]

A W N -

Correct Answer :-
e (Critical Incident Method/fipfeder sBSe ugfer [Option ID = 1645]

13) In case of agency problem, the actions of managers are very likely to be directed towards the goal of

ol e & it i yeerl Bl orRifafdr e sgea & siik forgfora 3t Amol & wga FHsiraen 37
[Question ID = 413][Question Description = S3_qSNz_PG_MGT_Q13]

Profit maximisation /et @t siférpiferas @on [Option ID = 1649]

Wealth maximisation/ziufer @t sifériférs w2er [Option ID = 1650]
Survival and self-sufficiency/3asfifear sfiz ¥q - uafaar [Option ID = 1651]
Self-sufficiency/za - wafaar [Option ID = 1652]

A W N -

Correct Answer :-
® Profit maximisation /st @ siférpiféras e [Option ID = 1649]

14) Which one of the following measures better explains inflation in an economic ecosystem?

forgtferi¥aa 3 A ®lel AT ufzena e uif:R¥-efed! 3 Fgrbifer df I AR @l & ?

[Question ID = 414][Question Description = S3_qSNz_PG_MGT_Q14]

GNP deflator/sft var dt smuf¥erferasrzas [Option ID = 1653]

Wholesale Price Index (WPI)/ e e Japias (Secey tt ams) [Option ID = 1654]
Consumer Price Index (CPI)/3usirep1 afc=1 Jaamics (A i ams) [Option ID = 1655]

Rate of change in GNP deflator/sf et tt smuf¥erferpr® 3 uf¥adet I g2 [Option ID = 1656]

A w N =

Correct Answer :-



® GNP deflator/sit ver tt sui¥erfeore [Option ID = 1653]

15) Du Pont analysis formula involves which financial elements for computation of earning power?

3 Ulc feecsuur g 3 Sursiel §1HdI bl 3IVIGI Mol B fer1e fopet Tl aredl @I Afdafera o sirer 8 ?

[Question ID = 415][Question Description = S3_qSNz_PG_MGT_Q15]

1. Net profit margin, Total assets turnover and Equity multiplier/gg cmemmeaz, et ufiufer smad sii sfract spre [Option ID = 1657]
2. Total assets turnover and sales turnover profitability/dget Jufer srad siie faayn siad emsggar [Option ID = 1658]

3. Profit margin, Sales turnover and Asset-use efficiency/cmsiiaz, fdagr smad sfiz ufsiufer - geiter gerar [Option ID = 1659]

4. Total assets turnover and Equity multiplier/qget ufSiufer sirad siiz sferact spras [Option ID = 1660]

Correct Answer :-
e Net profit margin, Total assets turnover and Equity multiplier/ g cmneaz, der ul¥iufy smad iz sfdact s [Option ID = 1657]

16) Following information is available for the year 2018 and 2019 of ABC Ltd:
Year 2018 2019

Sales Rs.32,00,000 Rs 57,00,000

Profit/(Loss) (Rs. 3,00,000) Rs. 7,00,000

Calculate P/V ratio

ad 2018 3fiz 2019 & fere ABC ferfdres 3 Hdifera forafeiRaa Iyaem Suctee 3 :

ad 2018 2019
faat . 32,00,000 . 57,00,000
i / sifor (=. 3,00,000) ».7,00,000

P/ V siopura &l surelr @3 :

[Question ID = 416][Question Description = S3_qSNz_PG_MGT_Q16]
1. 40%

[Option ID = 1661]
2. 16%

[Option ID = 1662]
3. 28%

[Option ID = 1663]
4. 12%

[Option ID = 1664]
Correct Answer :-
o 40%

[Option ID = 1661]

17) Which methods of risk analysis better serve lender's perspective in the capital budgeting decisions?

foreca>uut 1 Dlot AT adiet Ysil asifest ol 3 spurerar @ uf¥ggn @l siiz Jaaz aor wr 3 ?
[Question ID = 417][Question Description = S3_qSNz_PG_MGT_Q17]

Risk Adjusted Discount Rate/sif3qer @RS @ g2 [Option ID = 1665]

Certainty Equivalent approach/feifaar Jmerepet siféerer [Option ID = 1666]

Simulation and Sensitivity analyses/ smeuvt 3l ddceteficrar faea3wur [Option ID = 1667]
Decision Analysis/fewfr faecswur [Option ID = 1668]

A W N -

Correct Answer :-
e Risk Adjusted Discount Rate/SiiRaer IRl &e g2 [Option ID = 1665]

18) As per Walter's model, the market value of a growing firm will increase if the dividend payout ratio is

dice? sl @ sofAR [l famriofcd wal I dISIR Fea oot 3 A [ crsior spIdrel R-efer i 96 Sier 3?
[Question ID = 418][Question Description = S3_qSNz_PG_MGT_Q18]

1. Increased/ser g3 [Option ID = 1669]
2. Decreased/#er g3u [Option ID = 1670]
3. Constant/fer [Option ID = 1671]

4. 100%/100 % [Option ID = 1672]



Correct Answer :-

® |Increased/ssrt g3m [Option ID = 1669]

19) In the absence of covariance among securities in the portfolio, if each security has an average standard deviation of
20%, the portfolio of 100 securities would have a standard deviation of

afe didwifer 3 yferiferil 3 AsgRret &I 312 Algpeet al ik afe gy yfenyfer &l siiera smere fracter 20 % 3t aa 100 gfenferil & didwiferil
DI ol faractor fpdot e ?

[Question ID = 419][Question Description = S3_qSNz_PG_MGT_Q19]
1. 2%/2 % [Option ID = 1673]

2. Zero/9wa [Option ID = 1674]

3. 20%/20 % [Option ID = 1675]

4. 5%/5 % [Option ID = 1676]

Correct Answer :-
e 2%/2 % [Option ID = 1673]

20) The relationship between an investor's expectation of return on bonds with respect to the investment horizon is called

qis uz yfergufyr &t forderes smrasigiail o1 foraor fiem o gt & i o1 Jder wact 3 :

[Questlon ID = 420][Question Description = S3_qSNz_PG_MGT_Q20]
Bond yield/sis fics [Option ID = 1677]

. Yield to maturity/smfsuaadr smr (fics ¢ d=ifsd) [Option ID = 1678]

. Risk immunization/sifRqe1 gferemr [Option ID = 1679]

. Term structure of interest rates/=mst g3t &I smafé 2izaen [Option ID = 1680]

AWN—\

Correct Answer :-

e Bond yield/ais ies [Option ID = 1677]

21) usually have intensive distribution because sales of these products tend to have a direct relationship to
their availability

ICUIGI DI AMHAIGI: 31601 fAARUI BNl & TRIIfP ol Ieurcl I [y} o1 e Ader Iorhl Iuctserar uR ok w2ar 3

[Question ID = 421][Question Description = S3_qSNz_PG_MGT_Q21]
Convenience Goods/ 3Rt @ Sfidet @ scwie alol arcft a2qe [Option ID = 1681]
Speciality Goods/fafdrme azqu [Option ID = 1682]

Shopping Goods/ fiftier axq¥ (elifter spget) [Option ID = 1683]

Unsought Goods/srnfer azqe [Option ID = 1684]

A w N =

Correct Answer :-
e Convenience Goods/3IsERE @ Sfider & sele 2ol arcft aqe [Option ID = 1681]

22) Which phrase best completes the statement below?

One of the key tasks of a marketer is to and to create a perception among consumers that the product is
worth purchasing.

fraure (sradez) oI U gIPE PRI ____ 3 311 3curc @I FRicel d BRIGI @ aR 3 e D YeAsl Siiel DI JIId Dol &

[Question ID = 422][Question Description = S3_qSNz_PG_MGT_Q22]

. Make products easily visible and available/RRRI 3curg smieft 3 f&xa 3 iz 3uctstr &t ;DB [Option ID = 1685]

. Promote sales of products/3curci &t f[dast o 21> [Option ID = 1686]

. Differentiate their products from those of competitors/3oid 3curci @l yfeigfeRil @ 3curc 3 sictol fdpar s A [Option ID = 1687]
. Do market surveys/frRi arsiz Adstr fasenr sm 3@ [Option ID = 1688]

AW N =

Correct Answer :-
® Make products easily visible and available/fSrRRI 3cure simioft 3 f&a 3 3iiz 3uctstr @ > [Option ID = 1685]

23) When companies offer products in small packages or charge on a pay-per-use basis, then such strategies are part of:

Aafe wauforil Icurcl @ BIR-vI Udsll I U9I @2 Wl 8l srear U-arE-Isl SRI DIl Bl a=icl 8 3l ad 31 YR &l Wwehferit fprer sier aicht 37
[Question ID = 423][Question Description = S3_qSNz_PG_MGT_Q23]

Regionalisation strategies/gidiaur 2umfiferii [Option ID = 1689]

Strategies for the Bottom-of-the Pyramid/dica sifw & ftRifds @ fee 2vwiieri [Option ID = 1690]
Strategies for competing with global companies/dfas wuforil @ ustsel @ fere kiR [Option ID = 1691]
Strategies for internationalisation/dsdim2ur g wmwedieril [Option ID = 1692]

A w N =

Correct Answer :-
e Regionalisation strategies/gidia2ur vhiferit [Option ID = 1689]



24) At the business level, organisations need to position their business as being Low-cost leaders or Differentiated. The
position when cost leadership is high in terms of lower prices/lower costs and differentiation is low, is called:

RIGARI T U H3IGell DI Uil RIGART 3eIfer I ar ceIa o cfisz 3u 3 s1ear f3coldar arcl @ 3U A BRIA 3ol Bl S153d aldl 3 3A P
olqfcd H DI/ DA PRI D et 3 32 SIAr 3 d 3iAR Yol BIAI 3 ad 3A TRII Psl ST & ?

[Question ID = 424][Question Description = S3_qSNz_PG_MGT_Q24]
Focused Cost Leaders/3iddfoga afze cftsz [Option ID = 1693]

Cost Leaders/ofsc cfisz [Option ID = 1694]

Differentiators/fsige [Option ID = 1695]

Focused differentiators/zi®foga fadga [Option ID = 1696]

A w N -

Correct Answer :-
e Focused Cost Leaders/zidfoga @ize cfisz [Option ID = 1693]

25) The process of converting a non-productive, inactive asset into a productive asset by selling receivables to a company
that specialises in their collection and administration, is described as

af¥uferil @ Hsavr ik goIria 3 forgur fepfl dusit @I greil &t fast @ et A o=l srquice, foiftazr ufswiufa @ scuree uf¥ziuf 3
uf¥afefa @t & gfpan et 3 ?

[Question ID = 425][Question Description = S3_qSNz_PG_MGT_Q25]

1. Credit administration/3mra yomier [Option ID = 1697]
2. Factoring/cleiert elar-a@r [Option ID = 1698]

3. Receivables management/ger gdtret [Option ID = 1699]
4. Credit rating/ama st [Option ID = 1700]

Correct Answer :-
e (Credit administration/zma gemter [Option ID = 1697]

26) "Moments of Truth" in services marketing was given by:

AfdRI aradtest 3 "Hdioe 3w g’ fpad grI fGar sk 3 @

[Question ID = 426][Question Description = S3_qSNz_PG_MGT_Q26]
1. Jan Carlzon /ol @ricfsiior

[Option ID = 1701]
2. Rosser Reeves/3RR ot

[Option ID = 1702]
3. Parasuraman and Zeithamal/usgpster 3l Stowict

[Option ID = 1703]
4. Gary Armstrong/s131 smafagior

[Option ID = 1704]
Correct Answer :-
e Jan Carlzon/sier @ictsiior
[Option ID = 1701]

27) Which one of the following tasks is NOT expected to be performed in Sales Management?

farast gyaeror 3 forgotferBaa 3 A dlel AT GRI fosan siron srafar oidt &
[Question ID = 427][Question Description = S3_qSNz_PG_MGT_Q27]

Formulating sales policies/ e Jdfisfiferil @1 fowetivr [Option ID = 1705]

Designing sales territories/faterqi @t f3smser w2an [Option ID = 1706]

Selecting and recruitment of salesforce/ i@} @Rl get @1 a=el 3l Jorcht arcf [Option ID = 1707]

Determining the selling price of the firm's products/wsf @ 3curci @ faaygr &t Hlera a1 forerfzur w2en [Option ID = 1708]

A W N -

Correct Answer :-
e Formulating sales policies/fay Jtfisfiferil @1 forifor [Option ID = 1705]

28) In the retail industry, a 'Category Killer' is referred to as:

B I A 'Desrl fberr’ bR Jishiia wear 3 ?
[Question ID = 428][Question Description = S3_qSNz_PG_MGT_Q28]



1. A multi-category large discount store that is famous for its wide selection of products/v® ag-9puil (AccidesRl) as Be HSR (TR) Sl IFUIGE D &6 A=Al 3
yRig @ [Option ID = 1709]

2. A speciality store wedded to discounting and domination of a product category/ve® fafdre € Sit vt 3eurs it &t we 3k garer @ fwe yfeg & [Option
ID = 1710]

3. Astore in a residential area and offers all household goods and fresh groceries/fsft BarRit scird 3 312 e St a3 el iR drsft Jer-AfSrRI vd 3folsil Bt
Yot e & [Option ID = 1711]

4. A unique 24/7 store located on major highways and also located in fuel stations/v® fafSre 24/7 3 Sl Yoa AswIel 3l Sereiudl (WIcl 3C6l) R Ue SIk &
[Option ID = 1712]

Correct Answer :-

e A multi-category large discount store that is famous for its wide selection of products/v® wg-9ult (Fccidesrl) a8 gg 9SR (ICR) Sl 3FUe] D Ja6 TR 3G
yRrg & [Option ID = 1709]

29) When is the finite population multiplier expected to be approximately equal to one?

af3fdd SIeIRIRIT JUID B Dd PPBIPI U @ SRR Blol DI 3oldlel I5e & ?

[Question ID = 429][Question Description = S3_qSNz_PG_MGT_Q29]
1. N = 20n/N = 200
[Option ID = 1713]
2. N = 30n/N = 30n
[Option ID = 1714]
3. Nz 100/N = 10n
[Option ID = 1715]
4 N = 40n/N = 40n
[Option ID = 1716]

Correct Answer :-
® Nz 20n/N = 20n

[Option ID = 1713]

30) Which of the following is true with regard to method of least squares used in simple regression analysis ?

IRcT ULPE faasuvT 3 sYeldd famciol aila> o Jder 3 fordol 3 A Dol AT A8 3 ?
[Question ID = 430][Question Description = S3_qSNz_PG_MGT_Q30]

1. It minimises the sum of the squared values of the independent variable /s adq a3 @ asfiaa #c=1 bt oxforcn @I georfar 8 [Option ID = 1717]

2. It minimises the sum of squared differences between the values of independent variable and their mean/=e ¥adq @z @ i 3li? ol e D fla D
Toffape siaR <t air @t @t w2 sar 3 [Option ID = 1718]

3. It minimises the sum of the squared differences between the actual values of dependent variable and the estimated values of the dependent
variable as per regression equation /s catel Jwiidur (Rl sad9rel) @ IGRIR NI R 3l NS TR D Moo e D dla D elfod 3R Bl BA B2 S &
[Option ID = 1719]

4. It minimises the sum of squared values of the dependent variable /& 3nufSjd a3 @ dsffaya ajc=1 & sqr @1 @t w2 3ar & [Option ID = 1720]

Correct Answer :-
e |t minimises the sum of the squared values of the independent variable /s ¥adq az @& asffaya a1 6t s=yorar @1 gorfar 8 [Option ID = 1717]
31) In statistical quality control, the expected process variation (natural tolerance) is commonly taken

to be

WiRea® g Turadl (90 H A1 Hishar faerun (arHiidd 9w SH-aad) &1 sidl 2
[Question ID = 431][Question Description = S3_qSNz_PG_MGT_Q31]
“wtlo/u+ 1o
[Option ID = 1721]

2 u+20/u+ 20
[Option ID = 1722]

3 u+30/u+30
[Option ID = 1723]

4. Hﬂ.rsjvfﬁﬁiﬂrsfﬁ
[Option ID = 1724]

Correct Answer :-

® u+lo/u+lo



[Option ID = 1721]

32) Who is widely credited for placing Japan as a world leader in the quality of its manufactured

products?

SO 1 2 fafafia Sl &1 Joea ¥ afye A9 @ o o o &1 99 659 & s &

[Question ID = 432][Question Description = S3_qSNz_PG_MGT_Q32]
Schonberger R. J./9lersskz, 3m2. 1. [Option ID = 1725]

Deming W.E./3fde1, sece 8. [Option ID = 1726]

Juran J.M/3Rre, 3. wat [Option ID = 1727]

Goddard. W/slIsts seegg [Option ID = 1728]

A w N =

Correct Answer :-
e Schonberger R. J./9llelsR, 3= 31 [Option ID = 1725]

33) A transpertation problem with m origins and n destinations becomes a trans-shipment problem
with

m-3%H 3R n-Tided ¥ Heifid ultass aaw feads T # UE gHioRy 99 &9 9k S 2
[Question ID = 433][Question Description = S3_qSNz_PG_MGT_Q33]
1. (m + n) sources and (m + n) destinations /(m+n) Tia 3R (m+n) Tided

[Option ID = 1729]
2. (m+ n— 1) sources and equal number of destinations /(m+n-1) et e aicreeit bt 2etlor JFacer

[Option ID = 1730]
3+ (m— n) sources and (m — n) destinations /(m-n) T SR (m-n) Ta

[Option ID = 1731]
4. (m+ n—2) sources and (m + n — 2) destinations /(m+n-2) A 3R (m+n-2) A

[Option ID = 1732]

Correct Answer :-

° (m + n) sources and (m + n) destinations /(m+n) Fha AR (m+n) Tidd

[Option ID = 1729]

34) When is a firm not expected to prefer FDI to licensing?

AR & R Ba B1E BH TH.2E, B e T &

[Question ID = 434][Question Description = S3_qSNz_PG_MGT_Q34]

1. The firm has valuable know how that cannot be adequately protected by a contract/wsf @ urI sgsc StorpRt (iTel) aldl & BRI 2ifdet grI g3t ave JRfer ot
3 oI It 3 [Option ID = 1733]

2. The firm needs tight control over a foreign entity in order to maximise its market share and earnings in that country/Jer 3t smsft 3iRr derr ariR 9RR Bt
TGIol D 359 A DUl 3ol aral Joif 3t Ber gial w g3t aws foriqur 2zt 8 [Option ID = 1734]

3. The firm faces high transportation costs and tariffs/wusft 3ca uf¥agel eI i M- 9cd w @et 3t & [Option ID = 1735]

4. The firm's skills and capabilities are difficult to replicate in a foreign market/fcoft arsi 3 wat w1 Bloret 3l gErr DT Yraferd alott Hfdmet alar 3 [Option ID
=1736]

Correct Answer :-
e The firm has valuable know how that cannot be adequately protected by a contract/waf @ urt ¥ SIoIPR! (STT6T) Bleft & BRI AfdeT grI §3t avs Jpfdi ordt
31 ST bl & [Option ID = 1733]

35) In the context of Data Mining, which one of the following is a method of Data Reduction?

et arstoisr @ dcet 3 3c1 Rsaerer @1 forger 3 A DBior-AT v aflor & ?

[Question ID = 435][Question Description = S3_qSNz_PG_MGT_Q35]
. Normalization/gzmieficszor [Option ID = 1737]

. Data Compression/3er @grar (2idtser) [Option ID = 1738]

. Multiple Regression/agfde yfeemter [Option ID = 1739]

. Outlier Analysis/afgafsft fa=awur [Option ID = 1740]

A W N -

Correct Answer :-
o Normalization/gzmieficszur [Option ID = 1737]

36) In the context of the International Monetary System, the case for a fixed exchange rate regime claims:



iaRiedi=r #gr yvett & gl 3 v foifdaa faforrr o2 caRen @1 ARICH A6 sar w3 b :
[Question ID = 436][Question Description = S3_qSNz_PG_MGT_Q36]

1. The need to maintain a fixed exchange rate imposes monetary discipline on a country/fsif2ia fifoErRI G2 P! DrREI 3ol 6 sl oI 3 FSD IR ¢l &
[Option ID = 1741]

2. The goods and service manufactured in the country become more competitive in international markets/ger 3 Scurfé amet siie a1 AR TSR 3 d5a
yferuelf &t sy 8 [Option ID = 1742]

3. Floating exchange rate regimes are vulnerable to speculative pressure/uf¥adeiefier fafowrI G2 wMazer sy gaa @ fore 3@ (Fcerare) ardt & [Option ID
= 1743]

4. Far from correcting trade imbalance, depreciating a currency in the foreign exchange market tends to cause price inflation/®muR sRidetet @I Sl Bt
@ aifeif¥en bt g1 Blera @ faSoft fAfowrr asme 3 war o A Fcer gy axdt 8 [Option ID = 1744]

Correct Answer :-
e The need to maintain a fixed exchange rate imposes monetary discipline on a country/foif2ra fafowrr G2 @l ®RrET 30l I Filst Sor 3t D 3MofoIRiel eIl 3
[Option ID = 1741]

37) The computer system most likely to be used by a large bank for the savings account of a customer would be:

o=l a3 §b oI SfIeDl @ Fad Wi D fere s3I &l STol arcil IPIP (BFRIR) YuTicil b g & aett ?

[Question ID = 437][Question Description = S3_qSNz_PG_MGT_Q37]
1. An on-line, real-time system/ue aifel-cirset, f31et et gumeft [Option ID = 1745]

2. A generalized utility system/uv® memeitapa Su=ifSr gunelt [Option ID = 1746]

3. A batch processing system/uvw da el (gRRiE1) yorelt [Option ID = 1747]

4. A direct access database system/uvd yeiet sifdemier Scid=i gunefl [Option ID = 1748]

Correct Answer :-
® An on-line, real-time system/ue sifel-cirsoel, ReIet ersat yomeft [Option ID = 1745]

38) Which one of the following is NOT desirable while handling a grievance?

fOrPRIA 2ol B el forFotfeRaa 3 A dlel aivvoll=r o1l 3 ?

[Question ID = 438][Question Description = S3_qSNz_PG_MGT_Q38]

1. The union will identify specific contractual provisions allegedly being violated/forIer gri 2ifder 6t 3ot fafdree &iqi B usdrer w2l fSterdT B Bu 3 IcciEot
fopen S a1 @t [Option ID = 1749]

2. Make arrangement with individual employees that are inconsistent with the labour agreement/gp1 @R 3 3RIEH Blol arel PalaIiRl 3 AlG SN DI
[Option ID = 1750]

3. Hold the grievance discussions privately/forprIa &t forsft aafdl @wen [Option ID = 1751]

4. Examine the grievant personnel's record/fSioriadmal @ aifde IS &t sifa [Option ID = 1752]

Correct Answer :-

e The union will identify specific contractual provisions allegedly being violated/=Iforrel g1 JifdcT bt 3ot fafdre il &t usdrer w2l et B 3u A Ieciae
fopent S et @t [Option ID = 1749]

39) Entrepreneurs who are characterised by a refusal to adopt opportunities and make changes in production systems even

if it affects the returns of the organisation are called

T AT Jendl Sl IcurGol cIavel 3 Ia¥R) Bl 3JBUI Mol 3iiz uf¥dciocl dIel A eIl Dol DI fANTAT drcir 3l SIafds s FsToel bt IRT DY P B2
331 8, q6 PECII 3 -

[Question ID = 439][Question Description = S3_qSNz_PG_MGT_Q39]

1. Fabian Entrepreneurs/wifdRier 3zt [Option ID = 1753]

2. Life timers entrepreneurs/cisw crsai 3erft [Option ID = 1754]

3. Imitative entrepreneurs/aictt 3eeft [Option ID = 1755]
4. Drone entrepreneurs/aicrft 3ereft [Option ID = 1756]

Correct Answer :-
e Fabian Entrepreneurs/wiferror 3ewft [Option ID = 1753]

40) Which one of the following is NOT a part of the current account of a country's balance of payments?

forgotferRaa 31 3 o= b=t o1 B YPIdIST FUdclel @ dIey FIA BT 3T oidl & ?

[Question ID = 440][Question Description = S3_qSNz_PG_MGT_Q40]
Import of Goods/a=qgaii @1 s [Option ID = 1757]

Portfolio Investment/didwiferit forder [Option ID = 1758]

Investment income/forder sier [Option ID = 1759]

Export of Goods/axqgaii @1 forifa [Option ID = 1760]

A W N -

Correct Answer :-
e Import of Goods/axqgaii @1 s [Option ID = 1757]



41) A price ceiling below the equilibrium price of a commodity leads to
A. Commodity glut in market

B. Shortage of commodity

C. Demand erosion

D. Black marketing

Choose the correct answer from the options given below:

I D AR AT D ol IAAA A AAR 3, forar 3 A b1 wu 3 wiera grar 3 ?
A. SR # g3l bl IR

B. s¥q &t @it donr

C. Jnio1 3t @t 3mmom

D. oremarsist

i) feu aru famedl 3 A A8 IR D1 WRIel B :

[Question ID = 441][Question Description = S3_qSNz_PG_MGT_Q41]

1. Aand B only/d>act A siiz B [Option ID = 1761]
2. B and C only/@aet B siiz C [Option ID = 1762]
3. Band D only/d@aet B siiz D [Option ID = 1763]
4. Aand D only/a@act A siiz D [Option ID = 1764]

Correct Answer :-
e A and B only/daet A 3iiz B [Option ID = 1761]

42) The essential conditions for price discrimination practice to succeed in different markets are
A. Firms must have strong interdependence per se

B. Firm must have some control over the price of the product

C. Differentiated products and strong entry restrictions

D. Price elasticity of demand must differ in different markets

E. Markets for the products must be separable

Choose the correct answer from the options given below:

farf¥roor aISIRI 3 AWl Blol 3 He Aol A @ feru siagae Rrerfery 3 :
A. ucil I 3Mu=T 3 FASIYA 3R 3NfOYI /e Bloll

B. @ucil @I 3curc &t Hlard ur @@ oRIqur e Sl

C. faforse Seurcl siiz drpdaar yder gferderst

D. Fis1 &t Dlard yeazerar fafdieor asiRl 3 fieol dlom

E. 3curc @ fo1u areIR 3/a9d geraamviiRa ot

ofi o s1u fwedl & A A8 IR @I <RIl HIfRvIT :

[Question ID = 442][Question Description = S3_qSNz_PG_MGT_Q42]

1. A, B and C only/dsaet A, B siiz C [Option ID = 1765]
2. B, C and D only/daer B, C aiiz D [Option ID = 1766]
3. C,DandE only/aae C, D iz E [Option ID = 1767]
4. B, D and E only/aact B, D siiz E [Option ID = 1768]

Correct Answer :-
® A, Band C only/aaer A, B siiz C [Option ID = 1765]

43) Which of the following are creative problem solving characteristics of effective managers?
A. Cognitive style

B. Conceptual blocks

C. Divergent thinking

D. Activity balance

Choose the correct answer from the options given below:



gardl yeerp] &l Folelcdd A1 forare fadruam foreifeiRan 3 3 oot 21 3 ?
A. sieiead dicht

B. grRIrcaA® scifa1

C. firat A

D. Rpzresemra Fidetot

ofid o s1u fwsedl & A A8 IR BT wRI6l BT :

[Question ID = 443][Question Description = S3_qSNz_PG_MGT_Q43]

1. Aand C only/dqet A iz C [Option ID = 1769]
2. B and C only/@aet B siiz C [Option ID = 1770]
3. A, Cand D only/d>aet A, C siiz D [Option ID = 1771]
4. B, C and D only/dsaet B, C siiz D [Option ID = 1772]

Correct Answer :-
e Aand C only/dasaet A aiiz C [Option ID = 1769]

44) The term 'Flexible Manufacturing Technology' or ‘Lean Production’, covers a range of manufacturing technologies
designed to:

A. Become compliant with government regulations

B. Reduce setup times for complex equipment

C. Increase utilization of individual machines through better scheduling
D. Improve quality control at all stages of the manufacturing process

Choose the correct answer from the options given below:

91ec "o13rofia faforarfor aapefichl’ sterar sroRIfa Scurcar faforifur awelleal & ue ufer (31) A sresiea aiar 3 A6 e feru sifdrpfeua 3 ¢
A. Jzorsl fAformil @1 seuIcIas Blol

B. sifect Sumvll @ feru forerifea J1orr @1 wa don

C. Yar forerfzur & are=En 3 TR 6 Aofiell Bl ITRNBIAT a@ren

D. faferarior gfepen @ sl Rl U= IpuraTr orRIqUI DI JerRon

ofid o s1u fwedl & A A8 IR BT wRI6l BT :

[Question ID = 444][Question Description = S3_qSNz_PG_MGT_Q44]

A, C and D only/d@saet A, C iz D [Option ID = 1773]
B, C and D only/d@aer B, C siiz D [Option ID = 1774]
A and D only/d@aet A siiz D [Option ID = 1775]
B and C only/@aet B siiz C [Option ID = 1776]

A W N -

Correct Answer :-
e A, Cand D only/adae A, C siiz D [Option ID = 1773]

45) Theory of international trade promotes

A. Increase in demand for exportable products

B. Rise in prices and volumes

C. Improvement in quality of products

D. Reduction in prices and increase in quality for consumers

Choose the correct answer from the options given below:

simRisd samurR & Rigia aear 3a 3 :

A. forafa s 3eurch @ fere st 3 giy

B. dhlardi siiz uf¥emnvil/ uf¥emor 3 agrast

C. 3curct &l spuramn 3 gfy

D. Susirepiaii @ fere dblardl i @il 3iiz spuradr 3 gl won

il feu s1u el 3 A A8 IR D1 WRIet B :

[Question ID = 445][Question Description = S3_qSNz_PG_MGT_Q45]



A, B and C only/dact A, B afiz C [Option ID = 1777]
A, C and D only/daer A, C siiz D [Option ID = 1778]
B, C and D only/aact B, C siiz D [Option ID = 1779]
A and B only/dact A siiz B [Option ID = 1780]

A W N -

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 1777]

46) To achieve its aims in Strategic Human Resource Management, organization's formulate and execute Human Resources
A. Policies

B. Behaviours

C. Practices

D. Competencies

Choose the correct answer from the options given below:

JUTGliferes ATeId HATEr6T Yeitiol d 3ol 329 YIffT o fere FvIoel fdpel ATera=iIerel ol ygferarfea ud fopnfoaa @ 3 ?
A. ofiferri

B. caasr

C. ssara (JRerS)

D. e

ofi o s1u fwsedl & A A8 IR BT wRI6l BT :

[Question ID = 446][Question Description = S3_qSNz_PG_MGT_Q46]

A and B only/d>qet A siiz B [Option ID = 1781]
A and C only/dbaet A siiz C [Option ID = 1782]
B and C only/dqet B siiz C [Option ID = 1783]
A, B, Cand D/A, B, C siiz D [Option ID = 1784]

A W N -

Correct Answer :-
e Aand B only/@aet A iz B [Option ID = 1781]

47) The salient features of Zero Base Budgeting are:

A. It is a decision oriented approach

B.The decision unit is broken into understandable decision packages which are ranked according to importance
C. The responsibility is shifted from top management to the manager of the decision unit

D. It is an accounting oriented approach

E. Top management decides why a particular amount of money should be spent on a particular decision unit

Choose the correct answer from the options given below:

9[- JTENt¥e aoicot bt g fardraard 3 :

A. w16 ooy sueE 3

B. fofa soo1é oot drerr forofa Gabsil 3 faafea @2 sera @ smenz uR Jotot o forerifa fapen sirar
C. J<a gatrd A forof sod @ gaed Uz IacIRica Felelidi¥d 3l Sidr 3

D. a1z crarmvilicyd URH &

E. 3ca yders forof crar 3 fop fopeil faoy forofa soord ur ol fro erereifor aril et woll anfdu
i) feu s1v famedl 3 A A8 IR D1 WRIe BRI :

[Question ID = 447][Question Description = S3_qSNz_PG_MGT_Q47]

1. A, B and C only/dact A, B siiz C [Option ID = 1785]
2. D and E only/@aet D siiz E [Option ID = 1786]
3. Aand B only/daet A siiz B [Option ID = 1787]
4. C, Dand E only/@aet C, D 3iiz E [Option ID = 1788]

Correct Answer :-
® A, Band C only/aae A, B siiz C [Option ID = 1785]

48) The formula for calculating Degree of Operating Leverage (DOL) are:

% change in EBIT
Bl DB



Jo CNAREE 1 s3185

Contribution
8- DOL =i
EBIT + Fixed cost
C.poL = —
EBIT
D. por

Contribution

Choose the correct answer from the options given below:

HIGET feradst (DoL) @1 ATUHT &1 Bl a1 & 7

. %EBIT & gga1d
wfami Hagaa
B.DOL = [
: " EBIT
c poL = EBIT + R arm
EBIT
EBIT
DiROL: e

i fou e fawmeal © © 981 IR @1 954 ifong ;

[Question ID = 448][Question Description = S3_qSNz_PG_MGT_Q48]
A, C and D only/dact A, C aiiz D [Option ID = 1789]

B, C and D only/adaet B, C siiz D [Option ID = 1790]

A, B and C only/daet A, B afiz C [Option ID = 1791]

A and B only/dact A siiz B [Option ID = 1792]

A W N -

Correct Answer :-
e A, Cand D only/@act A, C siiz D [Option ID = 1789]

49) Funds flow and Cash flow statements are important managerial tools and help the firm to know:
A. Liquidity position

B. Capital expenditure incurred

C. Dividend paid

D. Extent of external financing

Choose the correct answer from the options given below:

fo1fer gyars 3iiz oipdl yare ool dAstaqul Yaerhik U=l & fofeld A8R Yfersoral @I _____ Sifolol 3 Jsrrdr fBrerdl 3:
A. azerar &t Rafer

B. ¢sft wad

C. 1 srar errsiior

D. arar feriier &1 argr

il fou o1 fraseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 449][Question Description = S3_qSNz_PG_MGT_Q49]

A, B and C only/@aet A, B aiiz C [Option ID = 1793]
B, C and D only/a@aet B, C siiz D [Option ID = 1794]
A and D only/d@aet A siiz D [Option ID = 1795]

A, B, C and D/A, B, C siiz D [Option ID = 1796]

A W N -

Correct Answer :-
® A, Band C only/aac A, B siiz C [Option ID = 1793]

50) Portfolio theory provides a normative approach to investing based on which of the following assumptions?



A. Risk-return spread is uniform for all asset classes
B. Investors are risk-averse

C. Market risk pricing is identical for all investors
D. Return on assets are normally distributed

E. Uniform investment horizon

Choose the correct answer from the options given below:

aIcwIfern Rigia foraer & fére uves forIead 3reTe Yglel @ar & Sl forgor 3 A fip sretdTel UR smmenfed arar 3 :
A. 130t ufziufa aeif 3q sifRaw - gfergif vt aicdl 3

B. fordores siifRqar fagpea aia 3

C. 0 foraerel & oo aeIR SNRA3 I v AT AT 3

D. ufiuferi &1 gfergufft Jmemeaa: faaka et @

E. vop 36t fordor @R Aiar

oifd fu sru frpeul 3 3 Al IR BT TR DIfSTU :

[Question ID = 450][Question Description = S3_qSNz_PG_MGT_Q50]

1. A, B and C only/dact A, B siiz C [Option ID = 1797]
2. B, Cand D only/@qe B, C aiiz D [Option ID = 1798]
3. C, Dand E only/@ae C, D siiz E [Option ID = 1799]
4. A, Cand E only/d@aet A, C siz E [Option ID = 1800]

Correct Answer :-
® A, Band C only/aae A, B iz C [Option ID = 1797]

51) Out of the following, which are the most common error committed by Entrepreneurs?
A. To anticipate roadblocks

B. No commitment or dedication

C. Proposing market niche (Segment)

D. Lack of demonstrated experience

E. No realistic goals

Choose the correct answer from the options given below:

forraiferRaa 3 ostar 2t Sefirll grI Yftrag Aaifere amiea siglfga o 3 :
A. 3rRIerD! BT gaioret

B. oI yferagar srerar Jerdur oiét

C. IR @ IUYFD FeIrel (FS) DI Yz

D. ygfofa smepra oI wait

E. aemefardt 32zl @ o1él el

il fou s1u frapeul 3 2 & IR BT a6l HIfSIE ©

[Question ID = 451][Question Description = S3_qSNz_PG_MGT_Q51]

. A, Band C only/dact A, B siiz C [Option ID = 1801]
. B, D and E only/daet B, D aiiz E [Option ID = 1802]
. C,DandE only/aact C, D siiz E [Option ID = 1803]
. B, C, Dand E only/daa B, C, D siiz E [Option ID = 1804]

A WN -

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 1801]

52) ldentify the drivers for increased Foreign Institutional Investment flows in Indian stock markets in recent times
A. Covid-19 pandemic driven liquidity outflows from the western capital markets

B. Geopolitical supply chain relocations

C. Increased India weightage in MSCI Emerging Market Index

D. Steep decline in interest rates in large market friendly economies

E. Favourable risk-reward ratios in Indian stock markets



